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DIPLOMA IN DAIRY TECHNOLOGY (DDT)

Term-End Examination

June, 2015

BPVI-013 : MILK PROCESSING AND PACKAGING

Time : 2 hours Maximum Marks : 50

Note : (i) Attempt any five questions.
(i) All questions carry equal marks.

1. Define any five of the following terms : 2%x5=10
a) HTST Pasteurization

(
(b) Double toned milk
(c)  Reconstituted milk
(d) Homogenized milk
(e) Bulk milk supply
(f)  Pasteurized milk
2.  Explain the different methods of cream
separation. What are the factors affecting
skimming efficiency ? 7+3=10
3. (a) Calculate the quantities of mixed milk 6
(5.1% fat) and skim milk (0.1% fat) required
to make 1000 litres of toned milk containing
3.1% fat.
(b) During cream separation, what will be the 4

% yield of cream if fat percentage in whole
milk, cream and skim milk is 6%, 55% and
0.1% respectively ?
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6. Distinguish between :

(@)
(b)

(©)
(d
()

What are the platform tests ? Discuss any
two platform tests.

Explain the procedure for estimation of milk
fat by Gerber method.

What are the bacteriological tests conducted
on milk for its acceptance ?-

What is bulk vending of Milk ? Write its
merits and demerits.

Single and two - stage homogenization

Direct and indirect UHT processing
methods

Butyrometer and lactometer
Cleaning and sanitizing
Surface cooler and bulk milk cooler

7. What are the different types of chemical
sanitizers ? What other methods of sanitization
are used in a dairy besides chemical sanitizing ?

(d)
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7+3=10
2x5=10

8.  Write short notes on any two :
(a) Determining efficiency of homogenization
(b) Importance of Clostridium botulinum in
sterilization of milk
()  Changes in UHT milk during storage

Bactofugation

2x5=10
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